
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

दशमलव को दस . की नकारा क श  यों से गुणा कर 

4785, 8 × 0.0001 = ________ 6416, 2 × 0.001 = ________

5202, 3 × 0.0001 = ________ 8956, 3 × 0.001 = ________

2961, 3 × 0.1 = ________ 9627, 9 × 0.1 = ________

4636, 1 × 0.001 = ________ 5483, 6 × 0.0001 = ________

2469, 5 × 0.1 = ________ 5444, 9 × 0.001 = ________

1217, 5 × 0.1 = ________ 9571, 3 × 0.0001 = ________

7115, 1 × 0.001 = ________ 2002, 3 × 0.001 = ________

1812, 7 × 0.001 = ________ 1974, 7 × 0.1 = ________

7288, 4 × 0.1 = ________ 6456, 3 × 0.01 = ________

4852, 9 × 0.0001 = ________ 2007, 3 × 0.1 = ________
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

दशमलव को दस . की नकारा क श  यों से गुणा कर 

4785, 8 × 0.0001 = 0.47858 6416, 2 × 0.001 = 6.4162

5202, 3 × 0.0001 = 0.52023 8956, 3 × 0.001 = 8.9563

2961, 3 × 0.1 = 296.13 9627, 9 × 0.1 = 962.79

4636, 1 × 0.001 = 4.6361 5483, 6 × 0.0001 = 0.54836

2469, 5 × 0.1 = 246.95 5444, 9 × 0.001 = 5.4449

1217, 5 × 0.1 = 121.75 9571, 3 × 0.0001 = 0.95713

7115, 1 × 0.001 = 7.1151 2002, 3 × 0.001 = 2.0023

1812, 7 × 0.001 = 1.8127 1974, 7 × 0.1 = 197.47

7288, 4 × 0.1 = 728.84 6456, 3 × 0.01 = 64.563

4852, 9 × 0.0001 = 0.48529 2007, 3 × 0.1 = 200.73
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